
 1

Document No. 75209019A RevD 
 

Instruction leaflet LoadCentre KQII 125A & 250A 
 
1 LoadCentre 125A & 250A 

1.1 Fitting incoming devices ≤ 125A 
1.2 Switch disconnector, MCCB and RCD installation 
1.3 Terminal block installation 
1.4 Earth bolt fitting 
1.5 Fitting/Removing outgoing devices 

 
2 Single Phasing Kits 

2.1 KQ125SPP installation 
2.2 KQ250SPP installation 

 
3 Extension Box Units 

3.1 Extension Box Installation Instructions 
3.2 Contactor Incomer Installation Instructions 
3.3 Metering Extension Installation Instructions 

 
4 LoadCentre Accessories 

4.1 Door lock installation 
4.2 Gland plate installation  
4.3 Extra earth kit installation  
4.4 Top/Bottom joining kit installation  
4.5 63A Split load kit installation  
4.6 Side joining kit installation  
4.7 Clean Earth Kit 
4.8 Padlocking Door Kit 

 
5 LoadCentre Dimensions 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
Safety 
The equipment must be installed and maintained by competent personnel in accordance with the appropriate 
statutory regulations and codes of practice e.g. Electricity at Work Regulations, IEE. Wiring regulations 
(BS7671) Etc.  Ensure the source is isolated elsewhere, locked off and labelled prior to work being carried 
out on the board.  It is the responsibility of the installer to ensure that all electrical connections are tight and 
satisfactory earth continuity has been achieved. 

 
Following completion of installation these instructions should be left with the 
equipment/end user. 

 
 
 

Schneider Electric Limited. 
Stafford Park 5, Telford. TF3 3BL 
Tel: 0870 608 8 608 
Fax: 0870 608 8 606 
www.schneider.co.uk 



 2

1. LoadCentre 125A & 250A 
 
Installation 
 
For ease of installation and to avoid the risk of damage by foreign 
bodies during cable preparation, it is recommended that gland plates 
are removed when preparing cable entry points. 
 
Note: Incoming phase rotation with the board installed in a normal 
upright position is N, L1, L2, L3 from left to right. 
 
All distribution boards are supplied without incomers.  
 
 
1.1 Fitting incoming devices up to 125A 
 
Note: DIN rail mounted incoming devices up to 125A are 
suitable for use on boards with the prefix "KQ***125" only. 
 
a. Ensure the DIN clip is closed. 
b. Ensure all terminals are fully open. 
c. Position the top load side terminals of the device over the 

incoming stabs and push fully home.(Fig 1) 
d. Tighten the top load side (busbar) terminals (Fig 2) according to 

recommended tightening torque's below: 
 
 

Device Type Busbar terminal Outgoing cable 
terminal 

125A Switch Disconnectors 3.0Nm 3.0Nm 
Incoming RCCB’s 3.5Nm 3.5Nm 
125A Incoming Terminal Block 3.0Nm 3.0Nm 
 
e. When preparing incoming cables, ensure that the correct phase 

rotation has been maintained i.e. from left to right N, L1, L2, L3. 
 

Incoming devices for 250A board 
 
1.2 Switch disconnector, MCCB and RCCB installation 
 
Note: MCCBs and incoming devices 160A and above are 
suitable for use on boards with the prefix "KQ***250" only. 
 
a. Locate the incoming device under the main busbar connections 

so that the terminals align with the fixing holes provided.  When 
fitting a 3P MCCB the neutral link is mounted on the left.(Fig 3). 

b. To mechanically secure the incoming device, pass 4 of the 
fixing screws provided through the device tightening to 2.0Nm. 

c. To electrically connect the main incoming busbar flags to the 
top pads of the device, use the bolts provided and tighten to the 
correct torque. 

d. Fit the load side busbar shroud and secure (Fig 4). 
e. Prepare incoming cables and connect, ensuring a phase 

rotation of N, L1, L2, L3 from left to right. 
f. Cut and fit the live side incoming terminal shroud.   
 
 
 
 

Fig 1 

Fig 2 

Fig 3 

Fig 4 

Fig 5 



 3

 
Possible incomers with tightening torque's are: 
 
Device Description  Cable Lug Tunnel 

Terminal 
Direct connection 250A lug unit  15 Nm N/A 
Switch disconnector 3P/4P 160/200/250A  15 Nm 26Nm 
MCCB 3P+N 100/160/200/250A  15 Nm 26Nm 
RCD 4P 160A  15 Nm 26Nm 
 
1.3 Terminal block installation 
 
a. Place four M8 nuts into main incoming moulding. (Fig 5). 
b. Place four M8 serrated washers on top of the M8 nuts. (Fig 5). 
c. Locate the incoming moulding under the main busbar 

connections so that the nuts align with the fixing holes. (Fig 6). 
d. Replace and secure the neutral bar cover and secure the 

incoming moulding using the fixing screws provided. (Fig 7). 
e. Fix incoming cables using the M8 bolts, plain and spring lock 

washers provided, ensuring that the correct phase rotation has 
been maintained. i.e. from left to right N, L1, L2, L3.  Main 
incoming connections should be tightened to 15.0 Nm. 

f. Ensure the clear polycarbonate terminal block shroud is 
secured into place before fitting distribution board cover (Fig 8). 

g. Position the metal 250A blanking plate into the cover aperture 
(Fig 9) and secure by the four tags on the inside face. 

 

Fig 6 

Fig 7 

Fig 8 

Fig 9 



 4

1.4 Earth bolt fitting 
a. If the earth bolt is not fitted it should be assembled per the 

following instructions to ensure earth continuity. 
b. Fit a M8 serrated washer over the M8 x 30 bolt. 
c. Put the bolt with the washer through the hole in the side of the 

distribution board from the outside in.  Fit the second M8 
serrated washer onto the bolt on the inside of the board 
followed by a M8 nut (Fig 10). Tighten the nut and bolt to 
3.0Nm so that the serrated washers cut through the paint and 
ensure earth continuity. Fit the two nut can be left finger tight at 
this stage until earth terminals are fitted. 

 
1.5 Fitting/Removing outgoing devices 
a. Ensure the source is isolated elsewhere, locked off and labelled 

prior to work being carried out on the board.  Ensure the swarf 
guard is removed. 

b. In order to assist installation we recommend installing devices 
from the bottom up (where the incomer is at the bottom of the 
board). 

 
To fit 
a. Identify the desired outgoing way and position the device over 

the busbar stack.The device is located correctly when each of 
the poles are located between the guiding ribs on top of the 
busbar moulding (Fig 11). 

b. Once the correct position has been identified, with the DIN clip 
closed, plug in the device following the steps indicated in figure 
11. Please observe and follow 1.PLUG, 2.PULL, 3.PUSH for 
the fastest and most convenient installation.(Fig 11). 

c. If a firm 1.PLUG action is not achieved stop, recheck the device 
alignment.  Off-set to the left or right if necessary to ensure 
correct positioning between the guide ribs. 

d. After cabling and testing in accordance with BS7671 ensure all 
covers are fitted, reinstate the supply and close the incoming 
and outgoing devices.(note it is recommended that 16mm of 
cable is stripped for connection to each outgoing device 
terminal). 

 
To remove 
a. Open the DIN clip 
b. Lift at the bottom of the device and gently rock towards the 

centre of the board until resistance is met. (Fig 12). 
c. Rock the device in the opposite direction and lift off. (Fig 12). 
 

Fig 10 

Fig 11 

Fig 12 

1. PLUG 
2. PULL 

3. PUSH 

3. ROCK 
BACKWARD 2. ROCK 

FORWARD 

1. OPEN 
DIN CLIP 



 5

2.Single Phasing Kit 
 
2.1 125A Single Phasing Kit installation 
 
a. Fitting of KQ125SPP is best done with the distribution board 

lying on its back, prior to cabling. 
b. Slide the single phasing link over the three (L1, L2, L3) 

incoming phase links. (Fig.13). Push fully back ensuring that 
the single phasing link is positioned as Fig 14. 

c. Take the main incoming device and fit onto the incoming 
busbar stabs as described in the main instruction leaflet 
supplied with the board. Adhere the single phase warning label 
supplied to back of the enclosure.(Fig 15) 

d. Tighten all the device’s load side connections according to the 
recommended tightening torque's (page 2) This will 
mechanically secure the device and single phasing link (Fig 
15). 

e. Carry out an insulation resistance test between the neutral bars 
and L1, L2 and L3 in turn to ensure that the single phasing link 
has been fitted over the phase conductors only. 

f. Adhere the single phase warning label supplied to the front 
cover of the board and mask out L1, L2 and L3 on the cover 
using label provided.(Fig 16) 

g. For incoming cables, the neutral should be connected to the 
terminal on the left hand side, the live may be connected to the 
L1, L2 or L3 position. 

 
2.2 250A Single Phasing Kit installation 
 
a. Fitting of KQ250SPP is best done with the distribution board 

lying on its back, prior to cabling. 
b. Remove the incoming neutral bar cover and load side busbar 

shroud. 
c. Slide the single phasing link under the incoming copper 

connections (marked L1,L2 & L3). (Fig 17) 
d. Holding the link under the phase copper links, pass the three 

M5 Allen key bolts supplied through L1, L2 & L3 and tighten to 
2.5 Nm. (Fig 18). 

e. Remove the two central fins of the shroud using a pair of side 
cutters along the moulded cutting line.(Fig 19). 

f. Take the main incoming device and fit onto the incoming busbar 
stabs as described in the main instruction leaflet supplied with 
the board. (Fig 20) 

g. Tighten the device’s load side connections to 10Nm for 100A 
and 15Nm for 160/250A. 

h. Carry out an insulation resistance test between the neutral bars 
and L1, L2 and L3 in turn to ensure that the single phasing link 
has been fitted over the phase conductors only. 

i. Refit the incoming neutral bar cover and modified load side 
busbar shroud and adhere the single phase warning label 
supplied to load side busbar shroud. (Fig 20). 

 
 
 
 
 
 
 
 

Fig 13 

Fig 14 

Fig 15 

Fig 16 



 6

j. Adhere the single phase warning label supplied to the front 
cover of the board and mask out L1, L2 and L3 on the cover 
using label provided. (Fig 16). 

k. For incoming cables, the neutral should be connected to the 
terminal on the left hand side, the live may be connected to the 
L1, L2 or L3 position. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Fig 17 

Fig 18 

Fig 20 

Fig 19 



 7

3. Extension Box Units 
 
These kits are intended for installing with a KQ 3 phase 
LoadCentre. They are not designed for stand alone applications.  
Fitting of these kits is best done with the distribution board lying on its 
back prior to cabling. 
 
3.1 Extension Box installation 
 
a. Remove the glandplate of the LoadCentre, at the end that 

extension box is to be connected. 
b. Remove the cross brace from the extension box and retain 

along with the 2 screws, as these are required in step f. (Fig 
21). 

c. Position the extension box ensuring the 4 tags are located and 
apply pressure to the top face until the 4 tags sit over the 
enclosure and the mounting hole is aligned. (Fig 22). 

d. Secure the extension box to the enclosure using M4 screws 
provided and tighten to 2.0 Nm. (Fig 22). 

e. Place two M5 Allen bolts through the mounting holes, attach the 
M5 nuts and tighten to 2.0 Nm. (Fig 22). 

f. Place the cross brace (which was removed in step b) onto the 
top face of the connected units positioning the tags into the 
LoadCentre slots and roll forward  into the recess of the 
extension box. (Fig 23). 

g. Secure the cross brace using M4 screws that were removed in 
step b and tighten to 2.0 Nm. (Fig 23). 

 
3.2 Contactor Incomer installation 
 
a. Fit extension box as detailed in Section 3.1, however it is 

advised to complete the wiring prior to fitting the cross brace to 
allow more workable room. 

b. Fit terminal block to incoming area and tighten terminals to 3.0 
Nm. 

c. Using cable provided connect from contactor to terminal block 
respecting phase rotation (from left N, L1, L2, L3) and tighten 
cable clamps to 3.0 Nm. 

 
3.3 Metering Kit installation 
 
The meter is pre-set for use with 250:5 current transformers supplied. 
Meter accuracy is class 1. Separate instructions for the PM meter are 
supplied with the kit. 
 
a. Fit extension box as detailed in Section 3.1, however it is 

advised to complete the wiring prior to fitting the cross brace to 
allow more workable room. 

b. Remove the three 2A MCB’s from the meter bracket (Fig 24) 
and plug them into the bottom of LoadCentre stack (near the 
incoming area) (Fig 25). 

c. Using cable loom supplied make voltage connections L1, L2 & 
L3 to MCB as identified on stack.Connect Feed incoming cable 
through the current transformers marked L1, L2, and L3. For 
ease of cabling it is recommended that the incoming cables are 
passed through the CTs prior to fitting of crimps. Connect 
neutral cable to incoming device. 

d. Secure front covers to distribution board and metering box 
using M4 screws and tighten to 2.0 Nm. 

Fig 21 

Fig 22 

Fig 23 

Fig 24 

Fig 25 



 8

e. Place meter instruction leaflet and the three MCB padlock 
attachments in plastic pocket and fit to inside of door. 

f. After board commissioning, padlock kits may be fitted. Note: If 
this circuit is isolated the energy taken by the connected loads 
will not be measured. (Fig 26). 

 
4  LoadCentre Accessories 
 
4.1 Door lock installation 
 
a. Remove knockout in door catch by scoring around both sides 

with a knife.(Fig 27). 
b. Insert lock through front of moulding, secure using retaining nut. 

(Fig 27). 
 
 
 
 
 
 
 
 
 
4.2 Gland plate installation  
 
a. Position the gland plate, ensuring the 4 tags are located. 
b. Apply pressure to the top face of gland plate until the 4 tags sit 

over the enclosure and the fixing keyhole is aligned. 
c. Secure the gland plate to the enclosure using M4 screws 

provided and tighten to 2.0 Nm. 
 
4.3 Extra Earth kit installation  
 
a. Position the Earth bars into the base of the enclosure. 
b. Secure the Earth bar to the enclosure using M4 screws 

provided and tighten to 2.5 Nm. (Fig 28). 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Fig 27 

Fig 28 

Fig 26 



 9

4.4 Top/Bottom joining kit Installation  
 
a. Remove and discard one of the gland plates that is supplied 

with each enclosure to be joined. 
b. Position the Joining kit ensuring the 4 tags are located and 

apply pressure to the top face of joining kit until the 4 tags sit 
over the enclosure and the Secure the joining kit to the 
enclosure using M4 screws provided and tighten to 2.0 Nm. 
(Fig 29). 

c. With the Joining kit attached, Position the 2nd enclosure onto 
the attached joining kit ensuring the 4 tags are located and 
apply pressure to the top face of joining kit until the 4 tags sit 
over the enclosure and the mounting hole is aligned. (Fig 30). 

d. Secure the joining kit to the enclosure using M4 screws 
provided and tighten to 2.0 Nm. (Fig 30). 

e. Place two M5 Allen bolts through the mounting holes, attach the 
M5 nuts and tighten to 2.0 Nm. (Fig 30). 

 

Fig 29 

Fig 30 



 10

4.5 63A Split load kit installation  
 
a. Remove the MCB and pre wired cable loom from the 

Top/Bottom Joining kit by cutting the transportation strap, taking 
care not to damage the plug on jaw. (Fig 31) 

b. Fit Top/Bottom Joining kit as detailed in Section 4.4. 
c. Plug MCB block that was removed in step a, to top of stack. 

(Fig 32). 
d. Fit incoming device (Not supplied) to the top LoadCentre. And 

connect the cable from the MCB respecting phase rotation 
(from left N, L1, L2, L3. (Fig 33). Tighten cable terminals 
according to recommended tightening torque’s (page 2).  Brown 
= L1, Black = L2, Grey = L3. 

e. Connect the Neutral cable from the bottom LoadCentre’s 
Neutral terminal using the M5 Allen bolt supplied, tighten to 2.5 
Nm. (Fig 32). Crop the cable to length and connect to the 
incoming device as fitted in Step d, respecting phase rotation 
(from left N, L1, L2, L3. (Fig 33). Tighten cable terminals 
according to recommended tightening torque. 

f. Excessive cable movement may have loosened the MCB 
connection, check tightness of cables to MCB. Adhere the “63A 
max load” labels to the front cover, and beside the incoming 
device (as fitted in step d) of the LoadCentre being fed by the 
63A MCB. (Fig 34). 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Fig 31 

Fig 32 

Fig 33 

Fig 34 



 11

4.6 Side joining kit installation  
 
a. Drill and cut out the 2 sets of hole patterns on both boards to be 

connected. (Fig 35). 
b. Assemble the three plastic joining spacers and place between 

the two boards to be joined. Pass the hardware through the 
Enclosures and joining spacer and tightening to 3.0 Nm.  (Fig 
36). 

 
 
 
 
 
4.7 Clean Earth Kit 
 
When fitting a clean earth to an installed board / pan assembly the 
incoming supply must be removed and isolated.   
 
a. Ensure the plastic shield supplied with the kit is fitted 

underneath the earth bar and formed up the side as shown. 
Position the required clean earth bar over the securing holes 
(fig 37) and insert the 2 no. self tapping screws provided 
through the rear of the pan assembly and fully tighten. Torque 
1.5Nm. 

b. Position the earth symbol onto the metalwork adjacent to the 
earth bar. 

c. Refit the pan assembly  
 
4.8 Padlock Kit 
 
a. Drill 2 holes through the board cover and through the padlock 

moulding to fit M4 x 10 screws.  The padlock hasp can be used as a 
template to drill the holes (Fig 38).  (The exact position of the holes in 
the cover is displayed in Fig 41) 

b. Fit 2 M4 x 10 hexagonal screws through the padlock hasp, moulding 
and door and secure with a M4 spring lock washer and M4 nut (Fig 
38) 

c. Remove the lock cut-out in the door moulding and fit the hasp guide.  
Bend the ears of the hasp guide according to the dotted line and 
direction in Fig 39 to fit the guide to the door (Fig 39 & 40).  Note: the 
ears of the hasp guide in Fig 40 are still shown in the position before 
bending them. 

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Fig 35 

Fig 36 

Fig 38 

Fig 39 

Fig 40 
Fig 41 

Fig 37 



 12

 
5.0 Distribution Board Dimensions 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Health and Safety at Work, etc Act 1974 
To ensure that the equipment described is safe for both personnel and property it should be installed, commissioned and 

maintained by or under the supervision of qualified persons. Regard should be taken of BS7671, Codes of practice, 
statutory requirements and specific Instructions issued by Schneider Electric. Any operating or installation queries 

relating to these products should be communicated directly to Schneider Electric. 
 
 

Product Dimension ‘A’ Dimension ‘B’ 
KQ12B125 484 386 
KQ18B125 484 386 
KQ24B125 538 440 
KQ36B125 700 602 
KQ48B125 808 710 
KQ54B125 862 764 
KQ72B125 1024 926 
   
KQ12B250 754 386 
KQ18B250 754 386 
KQ24B250 808 440 
KQ36B250 970 602 
KQ48B250 1078 710 
KQ54B250 1132 764 
KQ72B250 1294 926 
   
KQB Split Metered 1294 926 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


